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	1967
	1972
	1977

	No. of schools with discrimination scores  ( 10
	1
	0
	0

	No. of schools with discrimination scores of 1-9
	41
	16
	34

	No. of schools with discrimination scores  = 0
	8
	28
	33

	No. of schools with discrimination scores  -1 to -9
	38
	60
	51

	No. of schools with discrimination scores  ( -10
	4
	4
	1

	Mean
	-.48
	-1.64
	-.17

	Standard deviation
	5.00
	3.21
	2.07


95% Confidence Interval for the mean 1967:
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What does this tell you about discrimination in 1967?

Now, try to find the confidence interval for 1977…

This is the time-series graph showing the number of women’s applications to medical schools for the time span in question. The larger circles are highlighted because during these four years, women’s applications skyrocketed.





This overlapping graph shows the number of men and women applicants to med schools You can see that during the period that is highlighted above, a similar increase in the number of men’s applications has also occurred. 





Discrimination indexes show how badly medical schools discriminated. A positive DI is evidence FOR discrimination, while a negative number is evidence against it. A score of 0 is neutral. The line going horizontally across the graph is simply to make the graph easier to read.
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